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SN WSS
Hu: ARAN(USH)
Sl RIAZA Y BM=X AW (B9 ®R)
5 - 4
A FB B (EN) - HRAY - BES 0l &t o il HImEET
-3J13 30,000 = 27 = 12& 9,720
-2 AlE 30,000& = 27H « 23| 1,620
301 gt d= 2,700 2,700 0
1MIIEESS 2,700 2,700 0
OFQXX XUHZEH W 243 2,700,000 2,700
405 RHoHE S HI 1,600 7,000 5,400
01 AL EZFH S 1,600 7,000 25,400
O XXHH 4D £ 800,000& * 204 1,600
sclegrEas I 83,120 83,120 0
301 et a3z 83,120 83,120 0
058 -0 -tHESEHS 83,120 83,120 0
oold=¢ 78,720
-Jl2+dg 200,000 * 2498 » 12& 57,600
-0 200,000 = 24%H « 23| 9,600
R
20,0003 = 249Y = 23| » 12& 11,520
Oostazgaa 50,000& = 88%H * 13| 4,400
AAELHM X2 9,580 9,580 0
301 et d s 9,580 9,580 0
04 tSLHUHAH XA 9,580 9,580 0
OO0kAlHI 3,000 * 4F = 1JHOH * 365 4,380
O=2g & ety 100,000& = 1OHCH = 12 1,200
OXg =Xl 4,000,000 = 1JHCH 4,000
SSAE |2 226,701 187,511 39,190
101 @124 dl 7,356 6,321 1,035
04 JI2ZtHZ22HEE =+ 7,356 6,321 1,035
OAJIXIEHl & S3A&ae 92y 7,356
=0 60,240& = 18 = 110 6,627
-AFEIEE DlaRE 3 6,626,400 * 11% 729
201 et 169,235 168,115 1,120
01 At 2teltl 7,080 7,480 A 400
OdJ|etEzte] ===  170,0008 * 123 2,040
O&JIIetE e W2 (HAUTAl)
170,000& * 123/ 2,040
OAEAE X2l EH =2 (EAZA)
150,000& * 12& 1,800
ot al& ¢ 32Y B30 2
10,000& = 43| » 3004 & 1,200
02 =224l 162,155 160,635 1,520
03323 2 HA 109,585




SA: WS
N QIAZBAH(YSH)
CHel: QIRAZAL Y FMEX K (s )
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
ESPIIEIEE= == 1,700,0008 = 12 20,400
“MI| Y 2ERB(EAMTA
2,000,0008 » 129 24,000
-3 U FAXR 3 100,0008 « 12& 1,200
-85 2 FAXR S (EAE Al
100,0008 « 12& 1,200
-IEMEE 23 1,000,0008 = 12 12,000
-SNEXNSSE QB(HAZA
3,500,0008 = 12€ 42,000
SHOIEER WIS 200,0008 « 12& 2,400
-HIASEAIE ®I1Q2 200,0008 « 129 2,400
-HAZEAE 22 1,000, 0009 1,000
—SANERE S 100,0008 * 23] 200
—EANLERHYS(HASZA) 100,000 * 23] 200
-gE el 8ol 50,0008 = 23 100
-HOISTVR2IHI (S & AH) 19,8002 = 128 238
-AolETVZ2IHI (FQURXIME)
13,2002 = 12 159
-HOIETVZEIHI(HAZAEE L)
22,0008 = 12 264
O AISE(FUXXIHE)
30,0008 « 12@ 360
“OIEHY ASZ(HAUZAIZER)
22,0008 = 12 264
“HEAMNYLFUNIME , SX 52 H3E HAH
400,0008! * 33 1,200
Ot ot 2 11,0008 = 8AI2t * 1052 9,240
O AR HI (BHATA)
11,0008 * 8AI2t * 1052 9,240
OAl & &HI S XY 27,530
-H 28X 4l(1,903m) 3,000,000 3,000
—SHACDAEEA ASRXHI(1,177m)
2,000,000% 2,000
S EX=ED] 200,000 * 1CH 200
-ololH |x2e 1,700,000% 1,700
-0l01H X2 (HAZA) 1,700,000 1,700
-HASEE 270,0008 * 5904 A 15,930
-HEZH |Xe 200,0008 « 15CH 3,000
OP = Pul:] 6,200
-E83l2 2,200,000® « 2CH 4,400
-REBAELE 100,000 30§ * 23 600
-YEE SN 100,0008 * 1294 & 1,200
Oolglol M2 PC QEY AIRR
30,0008 = 129 360
307 QI2t0| & 7,410 7,500 A90




SN WSS
Hu: ARAN(USH)
Sl RIAZA Y BM=X AW (B9 ®R)
(o
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
05 RIZHRI & 3 7,410 7,500 A 90
ORUBZAAHE 200,000 * 123 2,400
ORUAGBAAE (AT Al) 300,0008 * 12& 3,600
OM=SZ23d ST HAHALHE AIER3
55,000& * 1A * 123 660
Ogeidt S¢2 g7 S HaE &X
750,000& * 1JH A 750
T AEHIZEUY 35,500 0 35,500
01 A& HI 35,500 0 35,500
OHAMBA 324 LEDEY WS A
3,500,000& = 14 3,500
OSEANEZANEZEx 24 L=328 ZA
10,000,000& * 14 10,000
OHEA & SAMUZAISHEHAL ZF 22 SAM
2,000,000& = 14 2,000
OSEMUTZANESEAL BAFE U SA
20,000,000& = 14 20,000
405 THebH S| 7,200 5,575 1,625
01 XAt 2 S FH S| 7,200 5,575 1,625
OH d3YR FAIE 23 7 7,200
-HAFEE Jtillet M 2
1,000,000& * 1CH 1,000
QI RAMEYHE M F& 700,0008 * 1CH 700
- MMED M 2 1,500,000& * 1CH 1,500
-2Md ME2330 72¢ 3,000,000 =1CH 3,000
“ARE AL 7Y 200,000& =« 5CH 1,000
NEAS 2EZE2ANM XA 800 0 800
201 £B-2dH| 800 0 800
01 At 22l 800 0 800
OXgGAsEZEAME 2 & =&
20,0003 = 10¥ = 43| 800
SHARZALFTI(YSH) 264,864 267,972 A 3,108
A2RAEBAMGEFA 264,864 267,972 A3,108
QloHzE 2 A2 A 220,864 210,972 9,892
401 Al BIZ 201 8] 220,864 210,972 9,892
01 A& HI 205,000 195,000 10,000
O8=32l =2 MIEZ(L=250m)  30,000,000& 30,000
OS8#&1cl === ZHHI(L=300m) 30,000,000& 30,000
OO0tat2el di==2 Adl(L=250m)  30,000,000& 30,000
OMF22l DISAYZ M 2] (L=400m)
30,000,000& 30,000
OOotaH1el 23X (14) 20,000,000& 20,000
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SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OL2 S NE |XE=H 50,000,000& 50,000
Oz sHEEZ M=&IZ 10,000, 000& 10,000
OAx7ARZAE X& S =E&2Hl 5,000,000 5,000
03 Al S THHI 15,864 15,972 A 108
Otz % st&&Edl EHldxt= 10,000,000 10,000
OM&=Y 2xta 5,000,000 5,000
OARS ZQ=AANY XL
120,000,000& * 0.72% 864
22 ZHAME 7,000 7,000 0
206 M= Hl 5,000 5,000 0
01 =8l 5,000 5,000 0
22248 MW7 5,000
-Hlg, =%, 22, 3K, JIEEAM 2,500,000 2,500
-E2H g2 P¢ 2,500,000& 2,500
401 AIEHI L 2 CHYI 2,000 2,000 0
03 A& =2 THHI 2,000 2,000 0
O Z2X4 ZH dxz 2,000,000& 2,000
== QL& O Ol &F 37,000 50,000 A 13,000
401 AIEHIZL 2CHYI 37,000 50,000 213,000
01 A& Bl 37,000 50,000 A 13,000
oeol=el gatdeldl Arg 22,000,000& 22,000
O=sXaz 2817 WHAY 15,000, 000& 15,000
HERIZH(WSH) 144,909 146,367 A 1,458
Jl2du(esd) 144,909 146, 367 A 1,458
JlE2&l 144,909 146, 367 N 1,458
201 LBH2d| 73,829 72,027 1,802
01 At 22l 55,750 54,678 1,072
Ogag(Y=2tl) 14,520,000& 14,520
OgBt==&H| 7,300,000& 7,300
O=gtl 6,650,000& 6,650
O=SAI Xtz 170,000 = 3CH » 123 6,120
O&=)| gtz 40,000& = 300 * 123 1,440
OAL2E FLUHI(HAUZ Al 1,000,000 1,000
OHZEH A2 FH| 18,720
-ZofZeH 13,200
- EY 440,000 * 3CH * 45 = 23| 10,560
- 440,000 * 3CH = 23 2,640
-YotZely 200,000& = 1208 = 23l 4,800
—-FAX 120,000&  2CH = 33 720
02 =24l 18,079 17,349 730
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Hegdd(uss
[2dE(WsH)
K- B S (3H) - MBAY - B il
o222 ¢ LQERF) 15,100,000& 15,100
O#AAH RAE | 2,979
-CHIIsAFRD1D 1,300,000& = 27CH 1,755
-TglfH 4,000,000& = 15CH 1,200
-FAX 600,000 = 2CH 24
202 04 b] 59,400 59,400
02 & 40| 59,400 59,400
OEMAHYI 225,000& * 229 «x 59,400
203 ¥ R =&t 11,680 11,640
o1 o229y 6,600 6,600
HE 550,000& =* 6,600
02 AAADJALA 880 840
O A &l = 40,000& =* 880
04 EMESY 4,200 4,200
FAEY 350,000& = 4,200




